mbolob

Factor

Trinomials

Leading coefficient is not 1

1. factor 6x2 —4x — 16

2. factor 3x2 —15x+ 18

3. factor 10x2 + 15x — 10

4. factor 3x2 —12x+9

5. factor 3x2 —6x—9

6. factor 6x2 +6x —12

7. factor 6x2 —6x — 12

8. factor 2x2 +8x+6

9. factor 2x2 —2x—12

10. factor 3x2 — 18x + 24



B mbolab

Answers

Factor

Trinomials

Leading coefficient is not 1

L 2(3s+ 4)(s—2)
2:3(s2) (- 3)
o (2 1)(r+2)
(1))
soa(s+ 1)(s—1)
o 6(s—1)(s+2)
(e 1)(r-2)
coa(s s 1)(s 1)
o.2(s+ 2)(s—3)

10‘3(x72)(x74)



